4. <120 cm®of oxygen gas diffused through a pclxo% géa\:tition in 50 seconds. How long would
it take 80cm?® of Sulphur (1V) oxide to diffuse‘t‘\e\’ me partition under the same

conditions? (S=32.0, 0=16.0)
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2. The flow chart represents a series of reactions . Study it and answer the questions that

follow.
Ethanoicacid| G | Sodium ethanoate Soda » GasJ
lime
i.  ldentify substances G and J (2mks) -
G%@QS»\\‘AN\\ A\mx\df;x ..............................................
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ti.  Write a chemical equation for the formation of J. (Imk)
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3. At 20°C, NO; and N0} gases exist in equilibrium as shown in the equation below.

N»O4(g) AH = -VE

2NOy)
Brown ‘\ Pale yellow \ -{
State and éxp ain the observation that would be made when. }\

N
(a) The syringe containing the mixture is immersed in ice-i:agld-water\(?(g&9\ (2mks)
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(b) Ihe vqugne in the gaseous mixture in the syringe is redﬁced. (2mks)
- cwu_rk\ VQC\C\\Q ST \awovec e
e c».c.,\ \..s;..c.x\c,\—q:.s.s}%'n\*mqn ..... N SR ST = A A
\)U\Sé)v-}\égqbﬂbmm\gpwsﬁ\xzf\%\&\ﬁs ..... @&@ﬂ%“@?(&;\;ﬁé&q@
..... c:.nc.?\hc;\.,x(;—ch\&%\/



